
 
 
 
 
 
 
 

 

 
  
 

 2ا������ 
 �� ��ℝ  ���	
  :ا���	د
ت ا�

1. 7x = 

2. 2 5x = 

3. 11x = − 

4. 3 1 14x − = 

5. 4 5 0x − = 

6. 2 6 0x + = 

7. 5 3 0x − = 

8. 
2 1

1
3 2

x − = 

9. 2 2 1x x− = − 

10. 2 3 2x x− = − 

11. 2 3 3x − = 

12. 4 7 6 2x x x− + − = −
 

  5ا������ 

 �� ��2
ℝ  ���	
  :ا���	د
ت ا�

1  .3 2 0x y− + =                2   .4 1 0x y− − =  

3  .
3 5 1

0
4 2 2

x y+ − =           4   .2 2 3 10 0x y− + =  

5   .3 12 0x − =                    6    .2 4 0y− + =  

  6ا������ 
 �� ��ℝ ت	��  :ا�
	���  ا��
�ا

1. ( ) ( )3 1 2 5 6 3 1 2x x x− − + ≤ − + −    2.( )1 2 5 0x− − ≤  

3.
3 1 2 1

2 5 10 2

x x
x

+ −− ≥ +  

4.5 1 2 3 2 2
24 8 12 3

x x x x− − − −− > +  5 .
3 1 3 2

3 3 3 3

x x− −<
− +

     

  

  1ا������ 
 �� ��ℝ  ���	
  :ا���	د
ت ا�

1( - 6 8x 3؛   = 0x 2؛    = 8 0x − ؛  =
3

2
4

x =   

 4 5 11x x− = − ؛   +
1 2 1

1
2 5 4

x x
− + = −   

3 2 1
7

3 4

x x
x

− −− = ؛    −
3 2 1 11 3

7 3 21

x x x
x

− + − +− = +  

2( - ( ) ( )2 5 3 6 4 3 1x x x− − = − ؛  +

( )1 2 10 2 2x x− = −   

3( - ( ) ( )2 2 1 0x x+ − 25؛  = 10 0x x− =    

( ) ( ) ( )( )2 3 5 1 1 2 3 0x x x x− + − + − =  

( ) ( ) ( )2
4 5 1 2 4 5 0x x x− − − − ؛=

( ) ( )2 2
3 2 1 0x x− − + =  

( ) ( ) 25 3 4 9 16 0x x x− − − + )؛  = )3 21 3 1 0x x− + − =  

3 22 10 5 0x x x− + − )؛  = )3 28 2 4 3 6 0x x x− + − + − =  

  

  7ا������ 
 �� ��ℝ  ���	
�	ت ا��  ا��
�ا

1. 7x ≤     2. 2 1 3x − ≤     3. 2 4x − >  

4. 3 2 0x + ≤    5. 5 0x + ≥    6.  2 5 4 3x x+ < −  

7.1 2 5 3x≤ − ≤   8.  1 2 3 7x x− + − <  

9. 5 7 4x + − <     

  8ا������ 
 �� ��ℝ  ���	
�	ت ا��  :ا��
�ا

1  .7x ≤                       2   .3 2 6x x− > +  

3   .21 1 0x x− − − ≤    4 .2 4 4 3x x+ + ≤  

5.   2 2 2 3 0x x x+ − − >  

  4ا������ 
 �� ��ℝ  ���	
  :ا���	د
ت ا�

5x =  ●   4 3 5x x− = +  ●   2 1 4x x− + =  

       2 1x x− = ●  22 2 9x x= −  

�	ت  ا���	د
ت و�ا��
�ا
 ا)و�'ر�� %$# ا�

   -�,+*ل وا�%

 3ا������ 
 �� ��ℝ  ���	
  :ا���	د
ت ا�

1. 
3

0
8

x

x

+ =
−

 

2. 
2 9

0
5

x

x

− = 

3. 
4 2

2 1 3

x

x

+ −=
−

 

4. 
3 5

0
1 3x x

− =
− +

 

5. 
6

2 1
2 1

x
x

= −
+

 

6. 
6 1 3 2

3 2 6 1

x x

x x

− −=
− +

 

7. 
6 1 6 1

3 2 3 2

x x

x x

− +=
− +

 

8. 
1 1

8 2 5x x
=

− +
 

  10ا������ 
 �� ��ℝ  ���	
�	ت ا��  ا��
�ا

1.   
2

0
3

x

x

− ≤
+

  2.  
3

3
2 1

x

x

− ≥
+

   3. 
10 1

2
2

x

x

− > −
−

  

4.  
1 2

0
3 2

x

x x

− + ≥
−

  5.  
2 1

1
2

x
x

x

− < +
−

    

   

  9ا������ 
 �� ��ℝ  ���	
�	ت ا��  ا��
�ا

1.   ( ) ( )2 3 0x x− + ≤    2. ( ) ( ) ( )1 3 2 1 1 0x x x− − + ≥  

3. 2 3 0x x+ <   4. 236 49 0x − ≤  5. 2 6 9 0x x+ + ≥  
6.  ( ) ( ) 25 3 4 9 16 0x x x− − − + ≤ 

7.( ) ( ) 23 8 2 5 4 20 25x x x x− − < − +  

   




